A4 FBE BHESFERELGR —F4£K=

#1H:2009408 A 168 REER—ERER BHERE #FHH=
BEEE EREREESLREL RS EEkEE FHLEFM
HAH E1E 145 241 3L AL 541 631 7L 8L
8/16 |100m 1 #5m0) 11749|4&/% EXR() 11766| A4F  #(1) 1776|700 KR#H(1) 11777 2R BER(1) 11781 Nk K1) 11785| L2 A1) 11790|;thi8 @H2(1) 12718
+0.9 BHEXE =it B R EIE— T BT T EIE—
8/16 |400m Xx&E BEW0 52"18|1F  #25m(1) 53"14]i/E A—1) 5334(#IE — k(1) 53780[ R ZEE—AR(1) 54744l KK (1) 557 36#8 2 OFAR(1) 55791
Rk BEBXE EREEE HEE EEEE ElpkEs HgEE
8/16 |800m B E&H0) 2'04722| K #EX) 2'05"59| BBk EHE() 2'06"80|7/K T (1) 2'06"87|IEFE  E() 2'07755[#aK EH) 2'08"73[5BER (1) 212762\ B #h#E(1) 2'15736]
Ay BT BREEE EREmEE T Bm¥E B =it
8/16 [5000m xa &M@ 16'23"14|EHF — k(1) 16'29708[#]kt FEK(1) 16'46792[lLO = 5H(1) 17407092 —E() 175476047 E{Z(1) 17'54763[ B3R (1) 18'00746| 5% EHE(1) 18'02772
BEZE T BT =i T ELR B Bm¥E
8/16 |110mJH kB EXR0) 14794 EBRE BKER(1) 17733 K5 1&(1) 17740 FREEBE A ER(T) 17798| Tk @A) 19709| L@ EEAXR(1) 20”71
-1.4 =54 EITE EITE BT BT BET
REFH
8/16 |4x100mR HIET 45743 E 5T 45759| B [ f5 45795 B WG — 467 21| 2 E 46797 =5 477 06| 4L ] 7 3 48" 55| &Rk E 48767
B B0 22X EX®M B &) EO X&) HH KEWM) RE B I /B RS Q)
HE A SR KER(1) A# O #HA) A BEAW) FREEE—ER(1) A FE0) wmE A=) Xx&E SEWM
fnmE #ik() B HXM0) KA BhtA(1) Bt S#B3) BIR RR1) BA $R>0D KT BN H2zE B
KEAIRFIHE) TE ®AK0) FA =0 g BEa0) A EEG) AU EXA) T 3D HME B
8/16 |E= Bk BAMIERD) Im75[#EE 2—1) 1m75[#&7A EA) 1m70|FA  =(1) 1m70|EHE RIE() 1m65[JIIER BEK(1) 1m60[Z  E&IA(1) 1m55[;&:& ARth(1) 1m55
ELR ERmEE EIFE— Elpkas EIFE— R B B INFR
8/16 |H= Bk Bt RB3) 3m60[#&H EAX) 3m40)
EIFE— EIFE—
8/16 |EN=EBk Mg () 6m26[ 2R EK(1) 5m77|#EIL &E0) 5m76|FHE HXR() 5m75[A0EE f@iK(1) 5m38|:2#  K(1) 5m31|HEH KEX) 5m28[iK &A1) 5m13
EIGE— +0.3| = IE T +0.6| ZBERE +0.4| E 5T +0.8| ZIET +0.7|/NR L - S +09|EEEE 0.2kt R 0.0|
8/16 |FasfLi% T (6] 12m21|#&RE FEI1) am23|EiE k() 8m62| B HBAANER(1) Tmo6|FHF #AEN) Tm79\h#E $R(1) Tm52|FaH BEE) Tm13[ILT #hF() 6m90)
EiT INFR = E BRE¥E BRE¥E BBEXE EiT ARk
8/16 |MA&#&% E{ITE: [§)) 32m83(F & I’R(A) 30m58|'RE  Ea(1) 24m08| =48 F1) 22m78| IR (1) 2m47|EiE &) 22mi8|lUT #=I(1) 21m89| KK SF() 19m75
EiT A&FHAEI B B BEiRE = E ARk ZIGE
8/16 VUK THE RBE) 49m27|hi#E (1) 45mal|IRE  E(1) 39m82| X B R FI#E(1) 3Ama1[iERE EE®) 33m78|F&RE Fi(1) 31m9O[HEZE K#H(1) 29m87|#]T FHE() 29m57,
EiET BBEXE B EiET EET INFK BF ARk
wBeE/a =BT 395 = iET BH|EIHE— 95| EBKE A EEEIS 16 51| £ el 75 25 125 B Rk (61?;)
1255
(+599) BT BR(EET 16R|EBKRE B ECER (31?;) BEFE 12| B Rk 983
15
(74-IF) FIET 23 5| BB E— BH|EBKRE 10| = 57 B T 8|/ 65




A4 FBE BHESFERELGR —F4£K=

H#1H:2009408 5160 REER—ERET) BHERE #FHH=
BEEE EREREESLREL RS EEkEE FHLEFM
HH LS 145z 201 3L 441 5L 6L 7L 8fiL
8/16 [100m INAREER(T) 12”53 A% REQ) 12792(#E &) 137313 A  BE(1) 13732l K& =5(1) 13" M| RS RFE) 13757\ R E#p b An(1) 13764 BELVE A(1) 13768
+0.9 =L B EEmEE =] BB BT Br BIEZEE
8/16 [400m R BE®0) 59778|HIE  E(1) ro1"1[RE =51 102”410 FEZKM) 1027 93|y B&(1) 1'05730[#&IF  £3£(1) 1057 48| B F&i(1) 1'07705| BB LT #(1) 107766
IS EEmEE EEmEE B BB =I5 BT BIEZEE
8/16 [800m mEi B&A) 230"61|2K E£&(®) 230"91|AS =&(®) 2'32776| B E HF(1) 2'34756|FHH EBE(1) 240"13|#/k ZY(®) 24173638 &A1) 242727
IS =i BE2E BIEZEE BEiRE Rk BREZE
8/16 |3000m WH FEW) 1032775\ " Thai E(1) 10597 31| FH+ E#Q) 11'43"60( 2R H T H\(1) 11'57758| R &5 () 1242789 R)IIA#F (1) 1245767 A8 =#(1) 1309709 A% HF(1) 1310790
EBFAX EBFAX Rk E9LA7 Ay R B BIEZEE BEZEE
8/16 [100mH =F th3E®0) IGEY EEE3: 36 17721[#808 3=BE(1) 17733/ R S=42(1) 17758 R ZE#Mth I0(1) 17759/MEFH (1) 17784 E £ & 3%(1) 18700[#A #(1) 19715
+0.7 IS =iGE BREEE B =] EGFE 8] BEZEE
8/16 |4x100mR G 50"79| B & 52793 I 2 B 54”40| 5 B T 54" 42| =54t 55" 13| Ll s 3% 57701| BB 2 577 13| EF 58”68]
INR SEHR(1) FREEfbth (1) IMEF HEQD BRI A #ER0) B R0 BE JWF) &0 @O
A% REQ1) /A B FNE BEE) 2ERMH1) INAREER(D e EQ1) 2R &#x=0) St FHLQ)
A 5EE®0) BO ERWM ‘A &) W HibA) FHLE BKF®1) RE FX) Bt 8 {EHE() BEAFEW)
& X80 Y2 (AQ) BEWVT A1) BE =K31) Ik B0 @K FHER0) BEREA) HH EE)
8/16 |E= Bk FMEBEEA) 1m40| Tk BAx1) 1m35|#E  &() @253 EE IR QDA &) 1m20)
EFFEE =58 aif 1m35| = 1m35| B 2 E
8/16 |EMN=EBk T A1) 4mI0|EiE EE() 4m86| 2B R FREE(1) am71|E# BT el GERCE ) 4mas|ILT EE) Ama4 B R HYE(1) am28|{EmE FIMA(1) 4m05
2] +1.2| ZIEE +1.0|EBHT +HIYBTHKE +0.4| B MR +1.5| &Rk | Er# +0.5|F +0.7
8/16 |FasfLi% SEEEHRA) FCE EEIEL0) 9ImO0[/NE  EH(1) Tmé1| RN EERF() Tm4s|tE Il BEFE(1) 6m48| it HkiE() 5m81|#aiE HWH\) 5m67
EiT EiT (=15 B (=15 =L L
8/16 |MfE# BFEMELIA) 3Bmi12=F%F thEN) 25m22| HEEERN) 22mb54| 7Rt BREEQT) 21m83| &I Ef&F(1) 20m63|fEk E&EO) 20m61[/NEF AREE(T) 16m26|HHE &EN) 11m28|
EiT AEH| EHE EiT =L B SC) B EREE
8/16 |vU#K BE EB®0) 39m35| & F H{8I(1) 31m8Y|fEk FE&H(O) 30m76|HHE &EA) 26m83|AZE 1FR(1) 24m55[#3E BE() 24ma3[/NEF BREQT) 21m64| T B[R A (1) 20m42)
EiET AEF| =BT KBER EREE HEIT =L B AR
BeEsa T 56 = =IE T 40 5| = IEFE 20| =Wt 1T R|EEEE 14| B/ 135
(+59%9) T 36 | EEREI P 3 14| B/ 13R|EBFE 128EBAX I EGEE 8
(74-IWF) BIET 36:5| = 5 20| =5t R ECEE] EEE B 6m|S<HEEE (661)

54




	01
	02

